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Sl. No.1
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Choose the correctly spelt word

(1) Penacea 2y Panacea

(3) Panacae {(4) Panecea

(1) 1
(2) 2
(3) 3
(4) 4

frefefiad 4 @ &1 qgF =1 27
(1) E2 (2) =
(3) = (4) 4

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25401]
2[Option ID=25402]

3[Option ID=25403]
4[Option ID=25404]

Sl. No.2
QBID:1007377




Given below are four sentences 1n jumbled order. Select the option that gives thewr correct

order.

(A) The old sculptor. Jakanachari. was working on the main image of the temple 1n the
inner shrine.

(B) At the next full moon it was to be consecrated and opened for worship.

(C) The temple of Belur was nearly ready.

(D) He spoke to no one and tolerated no interruption.

Choose the correct answer from the options given below :

(1) (&), (D). (B (O
(2} (C). (B, (A) (D)
(3} (B). (C), (A). (D)

{4} (B). (&), (C), (DY

(1) 1
(2) 2
(3) 3
(4) 4

Ze ] ] 3y B
(1) & 92 (2)
(3) G| (4)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25405]
2[Option ID=25406]

3[Option ID=25407]
4[Option ID=25408]

EERE
TeTe

Sl. No.3
QBID:1007378




Chooze the correct sentence,

(1) I recommend that he see a doctor.
(2) I recommend that he sees a doctor.
(3) I recommend that he 1s seeing a doctor.
(4} I recommend that he has to see a doctor.
(1) 1
(2) 2
(3) 3
4) 4

419 2 ®ud fou v @ v #iuhYUs (Assertion (A)) % ®9 H feifga 2 @1 g8 3HF #HU (Reasons
(R)) &% ¥4 4 .

Al (&) : A wed Foen Hieonfegs w1 3 @ warEA-a9 gan s fen s 2, enefore
YS! AL I FEA 2|

TR foefl e 1 & g1 ey wEd 2, A 9r IH F 39 § 9 A e % geE g d
fanren San &1 e g7 enefues 2|

I A o e °, A fou o fawedl U 5 HeH 39 I & 93 difau
1) (A 3 ®)ZH FE 2 30 (R), (A) I HE =mE E

@ (&) 3 @) EH w8 2, @ (R), (A) F wE e T6 2

(3 (A5 2, @ ®) 9@ 968 2

(4)  (A) HE T8 2, dfed ((R) 981 7

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25409]
2[Option ID=25410]
3[Option ID=25411]
4[Option ID=25412]

Sl. No.4
QBID:1007379




Match List T with List 1T

List I Last II
(A) Honorary (I) One who does good to mankind
(B) Mercenary (I) The motive to earn money
(C) Philanthropist (ITI) An office without pay
(D} Prodigal (IV) One who wastes money

Choose the correct answer from the options given below :

(1) (A)-IIT). (B)-(IT), (C)-(D). (DH)-(IV)
(2) (A)-(IV). (B)-(I1IT). (C)-(IL). (D)-(I)
(3) (A)-(I). (B)-(ID. (C)-(IID). (D)H-(ITV)
(4) (A)-(ID). (B)-(D). (C)-(III), (D)-(IV)

(1) 1

(2) 2

(3) 3

(4) 4

&l 37 3 faulea feen & sgan fafafiaa O 3 98 o am = a2

(1)  H9eH - @1, & fou (@) e - |
(3) HaY - 9, & g4 (4) w0 -4, W
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25413]
2[Option ID=25414]
3[Option ID=25415]
4[Option ID=25416]

Sl. No.5
QBID:1007380

Which of the following approxumates the meaning of the phrase. ‘'on edze?

(1) feeling excited (2) feeling nervous
(3) feeling relaxed (4) feeling angry
(1) 1

(2) 2

(3) 3

(4) 4




et 4 71 wrd H el =1 oA 27
(1) AT (2) FUar=

(3)  uE 9=y (4) =98 H 1 98

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25417]
2[Option ID=25418]

3[Option ID=25419]
4[Option ID=25420]

Sl. No.6
QBID:1007381

Identify the correct indirect narration for the following sentence.
He said. "Be quiet and hsten to my words.”

(1) He urged them and said be quiet and listen to words.
(2) He urged them to be quiet and listen to his words.
(3) He said theyv should be quiet and listen to his words.

(4) He said vou should be quiet and listen to my words.

(1) 1
(2) 2
3) 3
(4) 4

=TT o1 HHE 9eg i =W R Y
(1) - (2) fasef

(3) A AL
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25421]

2[Option ID=25422]

3[Option ID=25423]
4[Option ID=25424]

Sl. No.7
QBID:1007382




From among the four options given. choose the one word substitute for the phrase. ‘'one who
compiles dictionaries’

(1) Bibliophile (2) Evangelist

(3) Lexicographer {(4) Lecturer

(1) 1

(2) 2

(3) 3
(4) 4

ftferfiga 1 & @@ | are g 27

(D) IEH O 9 (2) I uH g R
{3] 33:17;5 eh '*;W:f ?I (4) TFFQ&:I e _;17:[ -%E
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=25425]
2[Option ID=25426]
3[Option ID=25427]
4[Option ID=25428]

Sl. No.8
QBID:1007383

Identify the correct option to complete the sentence meaningfully,

While they cricket, hghts ————— out.

(1) had watched. had gone (2) were watching, went

(3) had watched. went (4) have watched. have gone

(1) 1
(2) 2
(3) 3
(4) 4

FATEA AET Ha1ET 1 #Y B -

(1)  drde &H (2) <EgEl B
(3)  wifaawmefi &M (4)  Hfed 21
(1) 1
(2) 2
3) 3

(4) 4




1[Option ID=25429]
2[Option ID=25430]
3[Option ID=25431]
4[Option ID=25432]

Sl. No.9
QBID:1007384

Choose the correct phrase to complete the following sentence.
The new washing machine often goes ————— order.

(1) run by (2) downin

(3) out of (4) even with

(1) 1
(2) 2
3) 3
(4) 4

“Hl gz fea 0 U "W g1 B %1 Uk e &AT0|

(1)  wmHifEs (2) HIfHS
(3) arfera (4) arfies

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25433]
2[Option ID=25434]

3[Option ID=25435]
4[Option ID=25436]

Sl. No.10
QBID:1007385

Identify the active voice for the following sentence.

Should a lie be ever told by you?

(1) Should a lie ever be told? (2) Should vou ever tell a lie?

(3) Should a lie be ever told? (4) Should a lie be ever told by evervone?
1) 1
(2) 2
(3) 3

(4) 4




feaferfiaa o 5 =i |1 vreg a1 = afee 4 915 27
(1)  &=ed (2) Hed
(3)  Hed (4) H=Y
(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=25437]
2[Option ID=25438]

3[Option ID=25439]
4[Option ID=25440]

Sl. No.11
QBID:1007386

Name of the first Satellite in the world to be launched into the space 1s :

(1) Apollo-I (2) Sputnik
(3) Galileo (4) Armstrong

(1) 1
(2) 2
(3) 3
(4) 4

Hfier 0 uelyd 29 9l Y98 3998 %1 419 2 -

(1) 39 - 1 (2) wqdfH
(3)  AfeAter (4) AT
(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=25441]
2[Option ID=25442]
3[Option ID=25443]
4[Option ID=25444]

Sl. No.12
QBID:1007387




Which of the following 1= TRUE about G20?

(A)
(B)

(C)
(D)

India will host the First G20 Summit 1n 2023.

It accounts for more than 80 percent of global GDP. 75 per cent of global trade and 60
percent of the global population.

Pivush Goyal 1z the G20 Sherpa from India.

The permanent zecretarat of G20 12 1n New York.

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

11
(2) 2
(3) 3
(4) 4

{A). (B) and (D) only
(A). (B) and (C) only
(A) and (C) only

(B). (C) and (D) only

H1-20 % an o fyifea w5 @ g8 27

(4A)
(B)

(C)
(D)

uEE 99 2023 8 ggefi ®n i-20 wuye i gsEeh w5

3H HYE o Heild dfas el die] Iaa1e &1 80 ldsrd H sfye, dfvas symm w75 3k divas
SEE 60 widvra faem s 2)

A | H-20 IR SRy TEE 2

H1-20 @1 ==l Atarer s 8 sEfen 2)

dra fou o fgeredi O | W I I F FE il

(1)
(2)
(3)
(4)
1) 1
(2) 2

3) 3
(4) 4

Fdel (A). (B) 3 (D)
el (A). (B) 311 (C)
F9e (A) 31 (C)

e (B). (C) 3R (D)

1[Option ID=25445]
2[Option ID=25446]
3[Option ID=25447]
4[Option ID=25448]




Sl. No.13
QBID:1007388

Who among the following 1s the first person of Indian origin to receive Booker Prize?

(1) Salman Rushdie (2) Jhumpa Lahim
(3) Arundhati Roy (4) V.S5. Naipaul

(1) 1
(2) 2
3) 3
(4) 4

YA g @1 98 Taerl efad Tl e [ewn fuern 7

(1)  HeAgH wE (2) e et
(3) AEIA] 779 (4) dl.uH. I

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25449]
2[Option ID=25450]

3[Option ID=25451]
4[Option ID=25452]

Sl. No.14
QBID:1007389

Which of the following are true regarding Indira Gandhi National Centre for the Arts

(IGNCA)?

(A) It 1s a premier govenment-funded arts organization in India.

(B) It 1s an autonomous Institute under the Union Ministry of Culture.

(C) It was established to serve as a major resource centre for Indian arts, especially

written, oral and visual source materials.

(D) It was launched by Former Prime Minister Shrimati Indira Gandha.

Choose the correct answer from the options given below :

(1) (A), (B) and (D) only
(2) (A). (B) and (C) only
(3) (A). (B), (C) and (D) only
(4) (A) and (C) only
(1) 1
(2) 2

3) 3
(4) 4




frsferfiga § | 2fen widh o Fen Fg (IR A @ Hiv) FER Y FA E FUg HE 27

(A) 2 WA &I U I e s e 8e 2

(B) 97 g HEHfd HAed & A FErEerE e A

(C) o2 9™ sensi geman fofee, difgs 3w 790 =@ 9mofiel 2q 9o S9ge &2 & &9 1
wrfad T T e

(D) F2 qE v Al $ien e grn g T T o

= feu o fosedi § 4 |El 390 1 999 Fifo
(1) == (A), (B) 31 (D)
(2)  wEd (A). (B) 31 (C)
(3)  %ad (A). (B). (C) 3 (D)
(4)  SHad (A) 3 (O)
(1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=25453]
2[Option ID=25454]
3[Option ID=25455]
4[Option ID=25456]

Sl. No.15
QBID:1007390

Which direction does a geostationary satellite revolve round the earth?

(1) East to West (2) West to East
(3 South to North (4) North to South

1) 1
(2) 2
3) 3
(4) 4

Y| o ANI W@ B Y-+2fdeh IR HH fgon &1 3R Fet &d 27

(1) 9@ | ufvam (2) ufv=m | g4
(3) el § 3R (4) IR A efam
1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=25457]
2[Option ID=25458]
3[Option ID=25459]
4[Option ID=25460]

Sl. No.16
QBID:1007391

Who among P. Q. R. S and T 1s in the nuddle while standing in a line? Q standing to the right
of T while S is between P and T. and Q 1s between T and R.

(1) T (2) P
(3) Q 4 R

(1) 1
(2) 2
(3) 3
(4) 4

P.Q. R, S 3R T us ufth 4 @2 2| 78 9tk & #929 § %1 27 T % @ifel 3R Q @21 2, @fs P 3R T
el s TamRE S QR

(1) 2 (2) P
@ Q (4) R

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25461]
2[Option ID=25462]

3[Option ID=25463]
4[Option ID=25464]

Sl. No.17
QBID:1007392

A 15 13% from Top. B 1= 18%® from Bottom. When A and B change their position then A
becomes 21 from Top. What 1s the new position of B from bottom?

(1) 29 (2) 28
(3) 25 (4) 26
(1)
(2)

(3)
(4)

A W N =

AFPH 134 5N BHa 9 188 WA W2 59 AN B 399 4 3104 9 ged vid 2 91 A FW H 214
I 3 AE1 21 B F91 = H A a1 2y

(1) 29 (2) 28
(3) 25 (4) 26




1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25465]
2[Option ID=25466]

3[Option ID=25467]
4[Option ID=25468]

Sl. No.18
QBID:1007393

Eight friends - P, Q. R. 5. T, U. V and W are sitting around a circle facing the centre. V 1s
third to the right of @ and second to the left of R while @ 1s second to the left of T and
unmediate right of S. Also. U is between @ and T while P 1s not at the left of R. Who 1= exactly
at left of 57

1 Vv (2) U
3 P 4 Q

11
(2) 2
(3) 3
(4) 4

PQRSTLvjfrJWﬂwﬁnchﬁﬂuwﬁﬂuqamnza?mlQcﬁaﬁj-lm;ﬂmmm
V23l R ard s gHl v o 2) ke T % A 3 gt tyH W Q 2 3 S % @i e 2
QINTH T URTE R &% o1E 3N P A 21 S & 9%« 914 S 27

(1) v (2) U
3 P (4 Q

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25469]
2[Option ID=25470]

3[Option ID=25471]
4[Option ID=25472]

Sl. No.19
QBID:1007394

Seven students A. B. C. D, E, F and G take a series of tests. No two students get similar
marks. G always scores more than A. A always scores more than B. Each time either C scores
the highest and E gets the least, or alternatively D scores the highest and F or B scores the
least. If G 1s ranked fifth, which of these must be true?

(1) C 1s ranked second (2) D scores the highest

(3) E 1s ranked third (4) Bis ranked fourth
(1) 1




(2) 2
3) 3
(4) 4

|| B - A, B, C. D. E, F 31t G wiensii i vh-2gen <d 21 fordi 6 € o6 % 35 wh qum 74
21 G &1 UTHTS 299N A | Al #A 2| A %1 WiHT 79N B |° 3ifas #1021 B 9N 3 A1 C =
37 YTH &%l 3 E a0 H{d UH Hd 2 9 defous w9 0 D I=AY 3% 98 i 2 W F 9 B
=[d% e WH 4 21 4l G &1 FR A radi w@H foen B d@ T O w1 g 20

(1)  Col £+ g 2| (2) DI=dd A WH FA 2
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=25473]
2[Option ID=25474]
3[Option ID=25475]
4[Option ID=25476]

Sl. No.20
QBID:1007395

In a row of bovs, Jayvant 1s 7% from the start and 11® from the end. In another row of boys.
Vikram 1s 10™ from the start and 12® from the end. How many boys are there 1n both the
rows together?

(1) 40 (2) 39
(3) 38 (4) 35
(1)
(2)

(3)
(4)

A W N =

gkl 1 Uk Uik O T M H 7 A 3 3 d 11d H W 2| @2kl 6l vsh gufl dfe 0 fawn
A § 109 30 310 | 124 ¥4 W 2| gH1 afedl 3 e faen 1 e fhdd dgs 8o

(1) 40 (2) 39
(3) 38 4) 35

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25477]
2[Option ID=25478]

3[Option ID=25479]
4[Option ID=25480]

Sl. No.21




QBID:1007396

If %2 and £:i.the value of e 18
3 q 4bq —Tap
11 11
i = 9 —
(1) 14 (2) 14
12 12
g == gy i
(3) 13 (4) 13
(1) 1
(2) 2
(3) 3
(4) 4
afe 2L P8 & B-bd o
b 3 g 14 4bg —Tap
11 11
1 —— 2 R
(5 14 @ 14
12 12
5 P TR
(3) 13 (4) 13
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25481]
2[Option ID=25482]
3[Option ID=25483]
4[Option ID=25484]

Sl. No.22
QBID:1007397

Three spheres of radii 3 cm. 4 cm and 5 cm are melted to form a new sphere. Then. the radius

of the new sphere 1s

(1) 5 cm
(3) T em
(1) 1
(2) 2
(3) 3

(4) 4

(2) 6Gem
(4 12ecm




3 4, 4w 3fn 5 @i B & A e v 99 e = A faeie TR e 2 @, 98 e
forsa = ERfl 7

(1) 5 i (2) 6 g
(3) 7 Hfi (4) 12 |

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=25485]
2[Option ID=25486]

3[Option ID=25487]
4[Option ID=25488]

Sl. No.23
QBID:1007398

If the numerator of a fraction be increased by 15% and its denominator be diminished by 8%.

N | .. .
the value of the fraction 1s ﬁ . then the original fraction 1=

(1) 3/4 (2) 4/3
(3) 3/7 (4) 3/8

(1) 1
(2) 2
(3) 3
(4) 4

afe fdft fu & 3191 &1 15% =@t fom w2 3 & & 8% we fem swen R, a6 we E 2| @1 ge
fig =1 2l 7

(1) 3/4 (2) 4/3
(3) 3T (4) 3/8

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25489]
2[Option ID=25490]

3[Option ID=25491]
4[Option ID=25492]

Sl. No.24
QBID:1007399




13 chairs and 5 tables were bought for ¥ 8280. If the average cost of a table be ¥ 1227, then
the average cost of a chair 1s

(1) ¥ 18H 2y « 175

(3) ¥ 165 (4y ¥ 145

(1) 1

(2) 2

(3) 3

(4) 4

13 il 3t 5 U ¥ 8280 § wid e Afg veh U9 w1 3itHd gew T 1227 &, A vk FHl F1 3ited
e F1 ARl 7

I

(1) L 185 2 T 17
(3) T 165 (4 T 145

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25493]
2[Option ID=25494]

3[Option ID=25495]
4[Option ID=25496]

Sl. No.25
QBID:1007400

The selling price of 30 items is equal to the purchase price of 25 items. then the profit or loss
percent 1s

(1) 16% %. Loss (2) 16% %. Profit
(3) 20%. Loss (4) 20%. Profit

(1) 1
(2) 2
(3) 3
(4) 4

30 gEA 3 @l fasa geq 25 Sl & %9 9ed o SE 2| dl o 3Udl 21 ) ufdeid @ gen v

(1) 16%%, 7if4 (2) 16% %, eI
(3)  20%, &M (4) 20%, =4
(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=25497]
2[Option ID=25498]
3[Option ID=25499]
4[Option ID=25500]

Sl. No.26
QBID:1045001

Asymmetrical features of federalism in India include :

Fifth Schedule
Sixth Schedule
Article 371 A
Article 371 G

Cnwe

Choose the correct answer from the options given below :

(1) Only A, B and C
(2) Only B, C and D
(3) A B CandD
(4) Only A,Band D

(1) 1

(2) 2

(3) 3

(4) 4

T # Fuarg $r smAfag Aewant & afaa §

TS T
3eTetg 371 T
FeTedve 3710

T 0 R »

A e 71w fawedl # & @8 3cal & 994 RIfAC
(h Had A, B3R C
(2) %ad B,C3R D
(3) ABCHRD

(4) Faa A, B3I D
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26401]
2[Option ID=26402]




3[Option ID=26403]
4[Option ID=26404]

Sl. No.27

QBID:1045002

Which of the Constitutional provisions doesn’t/don’t come within the legislative
jurisdiction of the Legislature of a State?

monowes

Matters relating to clause 3 of article 16
Matters relating to article 32
Matters relating to article 33
Matters relating to article 34
Matters relating to clause 4 of article 16

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

Only A B, Cand D
Only B,C,Dand E
Only A,C,Dand E
Only A,B.Dand E

Fia-a1 gaufas waue o Tu@es & [urh sfUeres 7 a6 3 & 7

m o 0o @ p

3eTede-16 % @s-3 # wafda fawe
30632 W wafad fawa
0533 | Hafaa faww
3Te0E-34 ¥ waftT vy

ITTue-16 % @Ws-4 ¥ Hetug Gug

B |

A fer v BFedt # § ¥ 3caT F T3 fifav

(1)

(4)
(1) 1
(2) 2
(3) 3
(4) 4

hae A B, C3R D
%ad B,C,DHR E
Fael A, C, D3I E
#ae A.B.DIRE

1[Option ID=26405]
2[Option ID=26406]
3[Option ID=26407]
4[Option ID=26408]




Sl. No.28
QBID:1045003

Reservation of seats for the Scheduled Castes and Scheduled Tribes in the House of
the People 1s provided under which article of the Constitution?

(1) Article 16(4)
(2) Article 243 D
(3) Article 243 T
(4) Article 334

(1) 1

(2) 2

(3) 3

(4) 4

dlish @ # Jegiad onfa 3R s Seenfa & B del & e &
ST @A & e sese # fear wman § 2
(1 HTT5E 16(4)
(2) e 2439
3) 3Te0g 2438
(4) 34?:!3?&3334
(1) 1
2) 2

3) 3
(4) 4

1[Option ID=26409]
2[Option ID=26410]
3[Option ID=26411]
4[Option ID=26412]

Sl. No.29
QBID:1045004

Which of the following articles were not inserted by the Forty-second Constitutional
Amendment Act, 19767

A Article 21A
B. Article 31A
6 Article 39A
D. Article 43A
E. Article 48A

Choose the correct answer [rom the options given below :

(1) Only Aand B

(2) Only B and C

(3) Only Cand D

(4) Only Dand E
(1) 1

(2) 2




3) 3
(4) 4

frrafaf@a # @ f sepeadl = saeed sfRue sfRfras, 1976 o
nfAe g fovar arar g 0

FeTede 21%
FIeoe 31
3eTese 39
HITOE 43%
HeITe 48F

m o 0o m »

A fBv av Beedl # & 96 3o &1 T4 HIfSv

(D Faa AXR B
(2) ddd B3 C
(3) Fdol CIHRT D
(4) Fad DIHR E

1)1
(2) 2
3) 3
(4) 4

1[Option ID=26413]
2[Option ID=26414]
3[Option ID=26415]
4[Option ID=26416]

Sl. No.30
QBID:1045005

Who 1n the Constituent Assembly, said that ‘the Doctrine of Independence was not to
be raised to the level of a dogma so as to enable the judiciary to function as a kind of
Super Legislature or Super Executive’?

(1) M. Madhava Rao
(2) K.M. Munshi
(3) N.G. Ayyangar
(4) AK. Ayyar

(1) 1

(2) 2

(3) 3

(4) 4




Thus o # e w1 o1 F w=EEEar F e # @S F T s
T 8 Far s ofgr % =arafeeT 3347 3eTH & & ag 9
T o o FETRFT F T F FF FTT TF 2

(1) U, ATYET 09
(2) +%.0H. 72l
(3) U ST HTIAT
(4) T¥. HTIAT

(1) 1

2) 2

3) 3

(4) 4

1[Option ID=26417]
2[Option ID=26418]
3[Option ID=26419]
4[Option ID=26420]

Sl. No.31
QBID:1045006

The Parliament of India consists of :

A The House of the People
B. The Council of States
(= The President

D. The Prime Minister

E. The Speaker

Choose the correct answer from the options given below :

(1) Only A, Band C
(2) Only B, C and D
(3) Only C, Dand E
(4) Only A,Band E

(1) 1

(2) 2

(3) 3

(4) 4




g fr Fue # afAa &

m oo m e

Al T T
o9 AT

TSt
TETTHAT
DI EHAT ETE

A for aiv @Fedl # ¥ W8 3cay FT 9O v

(4)

(1) 1
(2) 2
(3) 3
(4) 4

Had A, B3R C
#ad B,CHR D
Fad C.D3HT E
Fad A, B3R E

1[Option ID=26421]
2[Option ID=26422]
3[Option ID=26423]
4[Option ID=26424]

Sl. No.32

QBID:1045007

Which of the following is/are correct ?

oNwp

E,

Article 143 provides for the power of President to consult Supreme Court.
The opinion of the Supreme Court is not binding.
The Supreme Court is not bound to give opinion on the subject so referred.

The Supreme Court would respectfully decline to answer with reference
if 1t 1s improper. inadvisable and undesirable.

The Supreme Court 1s bound to give opinion.

Choose the most appropriate answer from the options given below :

(1)
(2)
(3)

(4)
(1) 1

(2) 2
3) 3

Ounly A. Band C
Only B. C and D
OnlyB.C.Dand E
OnlyA.B.C.D




(4) 4

AT A s g =g gar g ;

A.

B.
.

B

HATOE 143 H Togdld HI 3=aa AT ¥ THY H H HUFR
gerT T T F

3= FATATIA T A TSN Jef ¢ |

=g OO W YR g AW 9T A9 999 F+ F v arew
G

3T FAATAd 3EIqEH. 36 AT W 3ea & ¥ SAPN HT Tohll
g Of¢ 38 I8 g, afese 3R EoadT & |

I==dH OIS HIAT A9 The Fld &+ o7 a7 & |

e feT 9T RBFedl # § HaW 39gFd Il F T AT

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

A W N =

%del A.BHT C
gl B.C3R D
+9d B.C.D3AX E
F9eT A.B.CHR D

1[Option ID=26425]
2[Option ID=26426]
3[Option ID=26427]
4[Option ID=26428]

Sl. No.33
QBID:1045008

Parliament may by law :

MO0 >

extend the jurisdiction of a High Court

establish a common High Court for two or more States
constitute a High Court for a Union Territory
establish administrative tribunal for each State

appoint judges of the High Courts

Choose the most appropriate answer from the options given below :

(1)
(2)
(3)
(4)

Only A,B.Cand D
OnlyB,C,Dand E
Only A B, Dand E
Only A,C,Dand E




(1) 1
(2) 2
(3) 3
(4) 4

fafer garr @ve

A I S F AOER 87 & FER w6 P

B. & 41 38« usal ¥ v v 3o ~aaew wifg X adr & |
C. €U Usd 87 ¥ AU 39 g F 76d H dadl § |

D. 3% Tsd & Ov grafas sfteor fr wurgar #3 gehdr § |
E. 3%0 #adiedl & ~aardei # @giea & @ € |

A fGT v Fedl # @ HEd 39YFA Iook gL HISAT
(h Facf A,B,C3R D
(2) %o B.C.D3R E
(3) Fad A,B. D3 E
(4) Fad A.C,D3R E

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=26429]
2[Option ID=26430]

3[Option ID=26431]
4[Option ID=26432]

Sl. No.34
QBID:1045009

Which Constitutional Amendment lowered the voting age from 21 years to 18 years 7

(1) 58" Amendment Act, 1987
) 61" Amendment Act, 1988
(3) 64" Amendment Act, 1990
(4) 65" Amendment Act, 1990

(1) 1

(2) 2

(3) 3

(4) 4




fF afeue Feus @RT Fag $T Hg F 219 § FH 6 18 TW H
T

(1) SeaT Welue HfafaTa. 1087

(2) 613 Tty AT, 1988

(3) 64ar Teira rfafaas. 1990

(4) 653T Tl FHTH. 1990

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26433]
2[Option ID=26434]
3[Option ID=26435]
4[Option ID=26436]

Sl. No.35
QBID:1045010

The Constitution (Forty-Second Amendment) Act, 1976 added three words to the
Preamble of the Constitution of India.

Al Socialist
B. Secular
C. Integrity
D. Unity

E. Federal

Choose the correct answer from the options given below :

(1) Only A, Band C
(2) Only B,Cand D
(3) Only C,Dand E
(4) Only A, Cand E

(1) 1

(2) 2

(3) 3

(4) 4




daue & (Faread e JRETa, 1976 garT sRT & a@fus fr
graraar # i e A Fw o F |

TATaE
@S
Tl
g

mo 0 E »

A BT a1t faedl & § TE 3o H 99 ST ¢
(1) Fad A, B3R C
(2) Fad B,C3IR D
(3) Fad C,DIAR E
(4) Fad A CHR E
(1) 1
(2) 2

3) 3
(4) 4

1[Option ID=26437]
2[Option ID=26438]
3[Option ID=26439]
4[Option ID=26440]

Sl. No.36
QBID:1045011

Which was the first reported case of Public Interest Litigation (PIL) seeking relief for
the under trial prisoners in jails ?

(1) Anil Yadav Vs State of Bihar. 1981
(2) Hussainara Khatoon Vs State of Bihar. 1979
(3) Khatri Vs State of Bihar, 1981
(4) Veena Sethi Vs State of Bihar, 1982
1) 1
2) 2
(3) 3

(4) 4




Sell # fFAETE St Fr Ted deE TR &7 9 fod TR FT ggen
HHAT HIT-AT & 7

(1) e geg gaH fOEr Usg, 1981
2) FHART Wi s=1d f9ER T4, 1979
(3) @4 g9 f9ER TeT, 19R]
(4) &= 88 TarH R e, 1982

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26441]
2[Option ID=26442]
3[Option ID=26443]
4[Option ID=26444]

Sl. No.37
QBID:1045012

(iven below are two statements : one 15 labelled as Assertion 4 and the other 15
labelled as Reason K.

Assertion A ;

Power of judicial review is considered as part of the basic structure of the
Constitution.

Reason R -

The Supreme Court is endowed with the power of judicial review to ensure judicial
independence and protection of rights.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R 1s the correct explanation of A
2) Both A and R are correct but R is not the correct explanation of A
(3) A 15 correct but R 15 not correct
(4) A 15 not correct but R 1s correct
(1) 1
(2) 2
(3) 3

(4) 4




A & FUS & OF HAFYA (Assertion 4) F T 7 fAf@T ¢ @ g@w
IHF FNOT (Reason R)F T H |

HIAFUA A :
s wHET & AER F GfFU H e WA FOHET AR T E |
FROTR :

A% Faaaar 3 FI0eRt & B & @ 3Tags e & saEae
afteT w1 3fOeR Rar mr #

IRFd FUA & el A, A QU 70 Fheul A @ g ITIFA Ieal H
Tg+ AT
(1) A 3R REET W & 3R R A e cureT &
(2) A 3R RS wE & Afer R A @ e A6 &
(3) ATEr & AT RS A8 &
() A TE AL § ofhet REET &
1) 1
(2) 2
(3) 3

(4) 4

1[Option ID=26445]
2[Option ID=26446]
3[Option ID=26447]
4[Option ID=26448]

Sl. No.38
QBID:1045013




Given below are two statements : one 18 labelled as Assertion 4 and the other is
labelled as Reason R.

Assertion A ;

The powers within the Supervisory Jurisdiction of the High Courts are both
administrative and judicial in nature.

Reason R

Article 227(1) gives the High Courts power of Superintendence over all courts and
tribunals within their ternitonial and constitutional jurisdiction.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R 18 not the correct explanation of A
(3) A 15 correct but R 1s not correct
(4) A 15 not correct but R 1s correct

(1) 1

(2) 2

(3) 3

(4) 4

A o YA § @ UF HHSUT AF ¥ A @ § O gET 396 IO RF
T H |

HBFEGT A :

= A F gAaE SrEfeR F A, seraiEE 3 s g g
#E

HNOT R :

Fe0q 227 (1), 359 ~EEAl F 3494 A AR gdurias SEiteR &
sfe, w3t =ararerdl R iAol @ R arefeT # HRER SeE T |

mwa:mﬁ,mmmﬁm#@mmﬁmmﬁ
T HfAT

(1) AR rReEr wer € 3R R A S wE emre §

(2) AR REET wET € dfha R A &7 9T rEr A &

3) A el &, oifeheT R WY 16T &

4) ATE 78T & o REdr &




(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26449]
2[Option ID=26450]
3[Option ID=26451]
4[Option ID=26452]

Sl. No.39

QBID:1045014

Which Fundamental Rights are available to all persons?

mofEp

Protection in respect of conviction for offences {Article 20)
Protection of life and personal liberty (Article 21)

Protection against arrest and detention in certain cases (Article 22)
Freedom of religion (Article 25 - 28)

Prohibition of discrimination on grounds of religion, race, caste or place of
birth (Article 15)

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

OnlyB,Cand D
Only A, Band C
Only B,C,Dand E
Only A,B,Cand D




FiT-Hlr & Alfos HfUFR Tl delt Fit 7=y § 2

Ayt &g QWRAfE & ufa AT (3EESE 20)
Shiaet 3R SATFAITT Fac=ar 1 HET (Hegeoe 21)

C. wfags awel # FReadt 3R aorEd & g dwemor (3re=de
22)

D. e & wacdadr (3ieae 25 - 28)

E. 9% oo, onfa, 3R ood Turer & 3mur 9 sigema & fader
(3FTeDe 15)

g Gu a7 Teedl # & ¥W61 3caX & 994 HIST ¢
(1 Fad B,C3IR D
(2) Fad A, B3R C
(3) del B,C. D3R E
4 Faa A B,C3HR D

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=26453]
2[Option ID=26454]

3[Option ID=26455]
4[Option ID=26456]

Sl. No.40
QBID:1045015

Which Constitutional Amendment ended the Parts A. B and C categories of States and
implemented the States Reorganisation Scheme?

(1) The Constitution (Fourth Amendment) Act. 1955
(2) The Constitution (Fifth Amendment) Act, 1955
(3) The Constitution (Sixth Amendment) Act. 1956
(4) The Constitution (Seventh Amendment) Act. 1956

(1) 1

2) 2

(3) 3

(4) 4




fora waues aivs gar &, @ 3R o1 Avh & usal &t gared far o
HR ToT G Al 1 fharfead Bhar a2

(4)

1)1
(2) 2
3) 3
(4) 4

gafas (dtur @) wfafETs, 1955

(aTerar |@eerT) rfafaTa, 1955
(Ter |Mue) wfafETA, 1956
(

EEBIEED
B EBIEED
FaeEE (@raar @) wfEEe, 1956

1[Option ID=26457]
2[Option ID=26458]
3[Option ID=26459]
4[Option ID=26460]

Sl. No.41

QBID:1045016

Which Constitutional Amendment abolished the privy purses and privileges of former
rulers of Princely States?

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

The Constitution ( Twenty-fourth Amendment) Act, 1971
The Constitution (Twenty-fifth Amendment) Act, 1971
The Constitution (Twenty-sixth Amendment) Act, 1971
The Constitution ( Twenty-seventh Amendment) Act, 1971

fora wdeanfas #evs ganT REmd Usal & qd AT & AR Heat T
Edmfasnt =1 gaca fFar = 2

(n
(2)
(3)
4)
(1) 1
(2) 2

3) 3
(4) 4

Fauriae (dieaar gerus) #fRfEEA, 1971
Fauwfee (v=dmar geiee) AfafEaa, 1971
Faufee (Sedraar Fays) sfafaTa, 1971
FAAF (Tearsgar @etE) AfEfETe, 1971

1[Option ID=26461]
2[Option ID=26462]
3[Option ID=26463]
4[Option ID=26464]

Sl. No.42

QBID:1045017




Which powers and responsibilities are not endowed by the Constitution to the
Panchayats 7

(1
(2)

(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

The preparation of plans for economic development
The implementation of schemes for economic development and social

justice

Agriculture, including agricultural extension
Regulation of slaughter homes and tanneries

Tfaus arT v=araal F HiS-8 AFR Feaieica YSId Fel T AT § 2

(1) s BFew 3R gafes =g ¥ ®T 399 397 F3&r
(2) WA+ B 3T gAfas = & Bw gaast &1 Faeaaa
FLAT
(3) Y. F+ R wfea
(4) qEsEE! AT TH tuaredr & e
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=26465]
2[Option ID=26466]
3[Option ID=26467]
4[Option ID=26468]
Sl. No.43

QBID:1045018




Given below are two statements : one 1s labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A :

Ministers shall hold office during the pleasure of the President.

Reason R :

The Couneil of Minmisters shall be collectively responsible to the House of the People.

In the light of the above statements. choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R 15 not the correct explanation of A
(3 A is correct but R 1s not comrect
(4) A 1s not correct but R 1s correct

(1) 1

(2) 2

(3) 3

(4) 4

A9 @ FUA 8 T 3T A¥ w9 F fof@T & 97 gEu 3§ FRUTRE
T H |

HIHFYA A
TSeafa F JAETId #A. H9 Ig UROT F39 |
FRUT R :

HT 9ioE ok WAT F 9id HIH{gS § ¥ Scaladl gl § |

IWFT FAT F Heirw H. A= G v TFedt 7 ¥ §a@ 39T+ 3ed 7
I FfET

(1) A 3R REET T € 3T R AH T e §

(2) A 3T REET TEr & JfFa R A Fr TEr carEar A97 &
(3) A TET ¢ oifeheT R WET A6l &

(4) AT A g A rREET £

(1) 1
2) 2




(3) 3
(4) 4

1[Option ID=26469]
2[Option ID=26470]
3[Option ID=26471]
4[Option ID=26472]

Sl. No.44
QBID:1045019

Which of the following 1s incorrect about a Money Bill?

(1) The bill deals with all or any provisions under article 110 of the
Constitution.
(2) The Money Bill has to be so certified by the Speaker of the House of the
People.
(3) The Money Bill has to be introduced in the House of the People first.
(4) Both the Houses of the Parliament enjoy equal powers with respectto a
Money Bill.
1) 1
(2) 2
3) 3
(4) 4

TR F oy s AeR@a s o s oram e g 2

(1) ferdros. Bfeue % 3ge0e-110 % 3idea =it a1 fRedr Srawmar
¥ Hafea ¢
(2) e fads F1 A T F 3OS @ THIUIT R ST
g g |
(3) o AT F gger d@F T F grgd RO S €
(4) v U ¥ g9y ¥ U F At geaAl F TAE HfFn
gred & |
(1)
(2)

(3)
(4)

A W N =

1[Option ID=26473]
2[Option ID=26474]
3[Option ID=26475]
4[Option ID=26476]

Sl. No.45
QBID:1045020

Who explains party systems in India in terms of democratisation and decay?
(1) K.C. Sun
(2) YogendraYadav
i3) James Manor
(4) Morris Jones




(1) 1
(2) 2
(3) 3
(4) 4

wenaarRoT 3T Fuea &1 e & 9g & ot goreh F1 aule rae fRar

M F
(2) 1) A | A
(3) SAFE #AGR
(4) st Jea

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26477]
2[Option ID=26478]
3[Option ID=26479]
4[Option ID=26480]

Sl. No.46
QBID:1045021

Which of the following statements is/are correct ?

Some nations lack states

Some states lack national identity

Some nations occupy more than one state
Some states contain more than one nation

=

Choose the correct answer from the options given below :

(1) Only A

(2) Only B

(3) Only Cand D

(4) Only A.B,Cand D
1) 1
(2) 2
3) 3

(4) 4




Ao g & 8 sla-arslad saa wdr & 7

Fo U F U F A P |

F6 Tsdl # THT e FINE
Fo gt #F o & HOw o E
o Tl A T ¥ IHUF Tg

oo B >

A BT v Beedl § & 98 3cay #1994 SIS

(1) FaeT A
(2) Fad B
(3) Faa C3R D
(4) Faa A B C3T D
1) 1
(2) 2
3) 3
4) 4

1[Option ID=26481]
2[Option ID=26482]
3[Option ID=26483]
4[Option ID=26484]

Sl. No.47
QBID:1045022

Who. amongst the following political philosophers can be associated with the idea of
"Luck egalitarianism’ ?

(1) John Rawls
(2) Cohen
(3) Robert Nozick
(4) Ronald Dworkin
1) 1
(2) 2
(3) 3

(4) 4




frafaf@a voehfos el & @ e “wJahr gaaee” §r Rarurr @
SISt ST Tehell & 7
(1) Siler Tow
(2) Fre
(3) Jat A=
(4) AATeE ZaIfHa
(1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=26485]
2[Option ID=26486]
3[Option ID=26487]
4[Option ID=26488]

Sl. No.48
QBID:1045023

Given below are two statements : one 18 labelled as Assertion A and the other 15
labelled as Reason R

Assertion A ;

Problems of global environmental change pose serious challenges to democratic
political systems, as they currently exist.

Reason R :

We need a thicker conception of citizenship, like environmental citizenship that
obligates citizens to inculcate environmentally sensitive behaviour.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R 1s not the correct explanation of A
(3) A 15 correct but R 15 not correct
(4) A 15 not correct but R 1s correct

1) 1

(2) 2

(3) 3

(4) 4




A oF U § ;o HWFYS AF w0 A @ ¢ O gEU 38 FAOT RF
& H |

HHFTT A :

f¥as gaarely oReaa & gaEe, 379 a0A = W5 A, diediiEs
TS gonferat & T a3t geifaar sc9e = W & |

BN R :

g gaiaroly arear S aefear § g snauren & 3mEagsar &S
AR # qATELOT HIET SAaeR 1 Forad wL |

IRTd FIF & Hew A, A Re 70 FFedl # § wa8 39gFd 3o A
Tg=T FifaT

(1 AR R wEr § 3T R A T wE s

2 AR REE TET & AfFa R, A 1 FE carEa 746§
(3) A TEr g, oifehet RTET 18T &

(4) A TE R B, ol REE &

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=26489]
2[Option ID=26490]

3[Option ID=26491]
4[Option ID=26492]

Sl. No.49
QBID:1045024

The author of "Essay on Toleration' is

i Locke
(2) Rousseau
(3) 1.S. Mill
(4) Kant
1) 1

(2) 2

(3) 3

(4) 4




TEY A ST F @+ A 8

(1) e
(2) w4
(3) ZI.0H. A
(4) FIeT
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26493]
2[Option ID=26494]
3[Option ID=26495]
4[Option ID=26496]

Sl. No.50
QBID:1045025

Who among the following theorists is known for his work on "The theory of resources
equality’ ?

(1) Amartya Sen
(2) Ronald Dworkin
(3) Jagdish Bhagwati
(4) Abhijit Banerjee
1) 1
(2) 2
(3) 3
(4) 4

frafaf@a # & i a1 Weiaue e & GAEaEe Faid (The
theory of resources equality) 9¢ 39 &4 & fow ofag € 2

(1) W

@) deres ZaTfE

3) SETCIT HAEadr

(4) HfFsa aeslt

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=26497]
2[Option ID=26498]

3[Option ID=26499]
4[Option ID=26500]

Sl. No.51
QBID:1045026




Who described Democracy as the tyranny of the majority' 7

(1) Tocquewville
(2) David Held
(3) Habermas
(4) Carole Pateman
(1) 1
(2) 2
(3) 3
(4) 4

mﬁmﬁm‘@ﬂﬁ%m%mﬁﬁm?

(1) HIECE
(2) 2fas &=
(3) ERE 1)
(4) FOT dei=T
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=26501]
2[Option ID=26502]

3[Option ID=26503]
4[Option ID=26504]

Sl. No.52
QBID:1045027

Given below are two statements :

Statement 1 :

Thin multiculturalism views some cultural differences as occurring between liberals

and non-liberals.

Statement II :

Thick multiculturalism views all cultural differences as disagreements between groups

that already agree on liberal values.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both Statement I and Statement 11 are correct
(2) Both Statement I and Statement 11 are incorrect
(3) Statement I 15 correct but Statement 11 15 incorrect
(4) Statement 1 15 incorrect but Statement 11 is correct
(1) 1
(2) 2

3) 3




(4) 4

A= g Fug R oaw &

FeA 1 :
EH TEUEHIAaE, IeRaIeal 3R R-ZERafedl F 9 $o FiEpias Jal
F AT ¥ |

FEeT 11 :
g IgHERaAG. W AEpias Aal F. 37 HAEEl F A9 AAHSl F T A
¢@d 2. S 9B ¥ 3gRAR! Hedl W HEAd ¢ |

ITFT FUA F Hes A A BT v FFent F ¥ 59w 3UgFd o) #H
EpCicTiE g

(1) FUF 13T Fu9 LA Ter &

(2) FUA 13T FuA AT To9 &
(3) FUT 1 HET & oFT FUT LT &
(4) FUT 17T & Ifhed AT I HET &

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=26505]
2[Option ID=26506]
3[Option ID=26507]
4[Option ID=26508]

Sl. No.53
QBID:1045028

Match List I with List I1 :

List I List 11
A, Simone de Beauvoir L The Female Eunuch
B. Betty Friedan II. Justice, Gender and the Family
C. Germaine Greer I The Feminine Mystique
D. 5. Moller Okin Iv. The Second Sex

Choose the correct answer from the options given below :

(1) A-IV, B-IIL, C-11, D-I
(2) A-L, B-IIL, C-1V, D-II
(3) A-I1, B-1V, C-1, D-TII
(4) A-IV, B-IIL, C-1, D-II

(1) 1




(2) 2
(3) 3
(4) 4

T 1EF Y g 0 F Ao HiS

|t T 1
A. e g JE3m I fo frver g%
B. dgt s IL. SAfeew, 5= s & *fAe
C. st A I, wafAe B

D. TH.HR i V. & s o=w

A BT v [Fedl # & T80 3ol #1994 HISAT

(1) A-1V, B-I11, C-I1, D-1
(2) A-1, B-111, C-1V, D-II
(3) A-1l. B-1V, C-1, D-111
{4) A-IV_B-III, C-1, D-11

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26509]
2[Option ID=26510]
3[Option ID=26511]
4[Option ID=26512]

Sl. No.54
QBID:1045029




Given below are two statements :

Statement [ :

Liberal femimsts argue for laws that give women formal equality of opportunity and

freedom from diserimination.

Statement 11 :

For radical feminists, the prevalence of violence against women 1s part and parcel of

sex-inequality.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement 1 and Statement 11 are correct
(2) Both Statement 1 and Statement 11 are incorrect
(3) Statement 1 15 correct but Statement 11 1s incorrect
(4) Statement 1 i1s incorrect but Statement 11 is correct
1) 1
(2) 2
(3) 3
(4) 4
a8 e ev v
HT [ -

3ENEET AGETE, 30 FeT & 98 # aF &d 8, S 70 A HEE A
i gamEar it Sewe O sadTar 9o ST ¢ |

FIA I :

e IRadward ATt & el & iy far & soiefy, g
IHHATTTT FT HT & |
Wm:&#;ﬂfrﬁmwﬁaﬁm#aﬁzﬂaﬁmgﬁv:

(1) gt wYe 13 nEdr &
(2) gt &ue 13K Naoa &

(3) Wlaﬁ%m‘;@mum%
(4) FUA 1776 ¢ o] P TG &
(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=26513]
2[Option ID=26514]
3[Option ID=26515]
4[Option ID=26516]

Sl. No.55
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Which of the following is/are correct explanation of Ronald Dworkin's idea of 'Rights
as Trumps'?

Al Norms of the society take precedence over basic individual rights.

B Interests of the whole community can trump individual rights,

C Basic rights of individuals take moral and legal precedence over other
x norms.

Choose the correct answer from the options given below :

(1 Only A
(2) Only B
(3) Only C
{4) A BandC
(1) 1
(2) 2
3) 3
(4) 4

faf@aa & ¥ Fia-8 sareayeageat Ades gaifehad ® TgeH U grgd’
T TaRURT & 3AR @6 6 7

A gAe F faw afFaat & a7 sfeE § s e

B.  wryol gae & f@d, safdaerd #fUsnt @ wdfui g dJd & |
C. =afFadl & He 3oeR, Afds 3 Bfts w0 F 37 AwgaEt &
FRE |

A U v R@dedl # & "8 3cay 1 994 SIS

(1) FHad A
(2) Fad B
(3) Fae C
(4) A B3R C
1) 1
(2) 2




(4) 4

1[Option ID=26517]
2[Option ID=26518]
3[Option ID=26519]
4[Option ID=26520]

Sl. No.56
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Given below are two statements ;

Statement { :

Jeremy Bentham, the founder of utilitarianism, ridiculed natural rights as a pernicious
fiction.

Statement I1 :
Human rights are believed to have been derived from the idea of natural law.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement I and Statement 1 are correct
(2) Both Statement | and Statement 1 are incorrect
(3) Statement I is correct but Statement 11 is incorrect
(4) Statement 1 is incorrect but Statement 11 is correct

(1) 1

(2) 2

3) 3

(4) 4

dT S Fua Rraw §

FIHA I :

INARAERE & JA6 A TUH, Tplds ATUERT H, Hedd Hedal & &9
# farpa HAE |

HUA Il :
;T S & B e iRt #, wefae wEE f Forurr & Gar g

g A # § A R v Beedt # w8 seovafav
(n gl FUT 13T nHer §
(2) et Fuer 130 1 78 §
(3) FUT | TE & e FUA 1T 78 &
(4) FUA 186 AL § Teg HUA 11 FDY &

(1) 1
2) 2




(3) 3
(4) 4

1[Option ID=26521]
2[Option ID=26522]
3[Option ID=26523]
4[Option ID=26524]

Sl. No.57
QBID:1045032

"If your aim 1s hiberty in democracy, then you must teach people the art of being free
and of governing themselves." Who gave this statement 7

(1) Bertrand Russell
(2) Aldous Huxley
(3) Fichte
(4) David Held

(1) 1

(2) 2

(3) 3

(4) 4

“afe dihaT H HTIHT 32T TFIdT &, af 9! |9 B FT@ad 8 iR
g F T SXe HT For DaEEh TR Y 98 99aeg FHaa Tar g 2

(1) aEE WA
(2) TesH gFdol
(3) fthane

(4) 3fas o2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=26525]
2[Option ID=26526]

3[Option ID=26527]
4[Option ID=26528]

Sl. No.58
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Which of the following constitutes the core principles of Utilitarianism' 7

Concept of utility

Greatest good of the greatest number

Laissez-Faire

Maximum happiness of maximum number of people

Cnwe

Choose the correct answer from the options given below :

(1) Ounly A and B
(2) Only A Band C
(3) OnlyA. B.CandD
(4) Only A . Band D
(1) 1
(2) 2
(3) 3
(4) 4

famrfafea # & Fla-8 e svafaEe F yqa BT € 2

A. 39T Hr FHFUROT

B. HEFTH H@TAT F AFIH g
-t

D. HFaH AT F AOFIA g

dr v a1v Tsreat # ¥ U 3o T T4 HifSvw

(1) del AT B

(2) Saa A.BIR C
(3) %I A.B.CHR D
(4) FaoT A.B3IR D

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=26529]
2[Option ID=26530]

3[Option ID=26531]
4[Option ID=26532]

Sl. No.59
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Who among the following defined "Citizenship as full and equal membership in
Political Community” ?

(1) Derek Heater
2) T.H. Marshall
(3) Will Kymlicka
4) Iris Young

1) 1

(2) 2

3) 3

(4) 4

fFrfaf@a # @ e ARl #I Tseides gded # o7 3R A=
TeEgar & &9 & qftsnfva frar g 2

(1) NF X
(2) o, A
(3) IEERETICED
(4) AR ToT
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26533]
2[Option ID=26534]
3[Option ID=26535]
4[Option ID=26536]

Sl. No.60
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Who among the following advocates the 'Entitlement theory of Justice' ?

(1) Kant
(2) Michael Sandel
(3) Robert Nozick
(4) Michael Walzer
(1) 1
(2) 2
3) 3

(4) 4




e # ¥ Fes =g & gEar e & sfoufea Far g 2

(1) Fioe

(2) HATghel sl
(3) qaé A

) ATgehel Teoil

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=26537]
2[Option ID=26538]

3[Option ID=26539]
4[Option ID=26540]

Sl. No.61
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John Rawls 15

(1) A Unlitarian
(2) A Social Contractarian
(3) A Perfectionist
(4) A Marxist
(1) 1
(2) 2
(3) 3
(4) 4
SiieT Jew &
(1) ELDIEICIA]

(2) grATToIs dfdeEdr

(3) quidraTer
(4) ATFHATE
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=26541]
2[Option ID=26542]

3[Option ID=26543]
4[Option ID=26544]

Sl. No.62
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The word "ideology' was coined by

(1 de Tracy
(2) Karl Marx
(3) Fukuyama
(4) D. Bell
(1) 1
(2) 2
(3) 3
(4) 4
TaaRemT ereg #r 3guren fFa & & 7
(1 2 ear
(2) FTel AT
(3)
o3
(4) ERCE]
1) 1
(2) 2
(3) 3
4) 4

1[Option ID=26545]
2[Option ID=26546]
3[Option ID=26547]
4[Option ID=26548]

Sl. No.63
QBID:1045038

The author of Wicomachean Ethics' is

(1) Plato
(2) Aristotle
(3) Socrates
(4) Hobbes

1) 1

(2) 2

3) 3

(4) 4

TaAfFaa sRew & ows Fa 5 2
(1 L= i
(2) IET
(3) g
@) -

(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=26549]
2[Option ID=26550]
3[Option ID=26551]
4[Option ID=26552]

Sl. No.64
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Who among the following used the concept of 'Oceanic Circle' 7

(1) J.L. Nehru
(2) B.R. Ambedkar
(3) Mahatma Gandhi
(4) Jayprakash Narayan
(1) 1
(2) 2
(3) 3
(4) 4
FaefEa & § e s afFa & sauron & g Far g 2
(1 A.0e. A8

(2) FLIN. IEsHT
(3) HETCHT e
(4) FIWHIA AT

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=26553]
2[Option ID=26554]

3[Option ID=26555]
4[Option ID=26556]

Sl. No.65
QBID:1045040

The work "Who were the Shudras' 15 associated with

(1) Periyar

(2) Ambedkar

(3) John Dewey

(4) Mahatma Gandhi
(1) 1
(2) 2
(3) 3

(4) 4




T W e e w6 it § 2

(n AR
(2) FFISHT
(3) EIGEEG]
(4) HETcAT et
(1) 1
2) 2
3) 3
(4) 4

1[Option ID=26557]
2[Option ID=26558]
3[Option ID=26559]
4[Option ID=26560]

Sl. No.66
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The term 'Original Position' is associated with

(1 Brian Berry
(2) John Rawls
(3) 5. Moller Okin
(4) Michael Walzer
(1) 1
(2) 2
(3) 3
(4) 4
gg ‘W= Afeew Fad ge9feg § 2
(n T afr
(2) el Ted
(3) TH. Aol 3
(4) ATgHhd dleall
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26561]
2[Option ID=26562]
3[Option ID=26563]
4[Option ID=26564]

Sl. No.67
QBID:1045042




Leviathan' was written by

(1) Locke
(2) Hobbes
(3) 1.8, Mill
(4) Rousseau

(1) 1

(2) 2

(3) 3

(4) 4

AT & d@sd ST § 2

(h wi
2 HE:]
(3) . uH. A
(4) FHT
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26565]
2[Option ID=26566]
3[Option ID=26567]
4[Option ID=26568]

Sl. No.68
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Who among the following defined "Politics as the Authoritative Allocation of Values"
9

(1) Harold Lasswell
(2) David Easton
(3) Adrian Leftwich
(4) [an Bell

(1) 1

(2) 2

(3) 3

(4) 4

femafof@a & ¥ fFaa vl # #edl & Hcdieds HEea & &9 A
gfeiya T 2

(1) &Tes AT

(2) CE ]

(3) 3T aweeg

(4) ST 9




(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=26569]
2[Option ID=26570]

3[Option ID=26571]
4[Option ID=26572]

Sl. No.69
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Who among the following is considered as a 'reluctant democrat' ?

(1) J.S. Mill
(2) J.J. Rousseau
(3) Thomas Hobbes
(4) J. Locke

(1) 1

2) 2

(3) 3

(4) 4

fArfaf@a & @ fhasr srEgse disaaaKr A6 ST § ?
(1 = g Aw
(2) o of. &Er
(3) ATAH gl
(4) . dih
(1) 1
(2) 2
3) 3

(4) 4

1[Option ID=26573]
2[Option ID=26574]
3[Option ID=26575]
4[Option ID=26576]

Sl. No.70
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"The Saptang Theory of State' is associated with

(1) Kautilya

(2) R.S. Sharma

(3) J.P. Narayan

(4) M.N. Roy
1) 1

(2) 2




3) 3

(4) 4
T & Togie e Fad gemg & 2
(1) Fifee
(2) IR.TH. AAT
(3) Sy, AT
(4) THAUA. T
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26577]
2[Option ID=26578]
3[Option ID=26579]
4[Option ID=26580]

Sl. No.71
QBID:1045046

"Himdutva : Who is a Hindu" was written by

(1) Savarkar
(2) Golwalkar
(3) Lala Lajpat Rai
(4) Bipin Chandra Pal
(1) 1
(2) 2
(3) 3
(4) 4
“%’W:iﬁwﬁﬁ'ﬁsﬁmw%?
(h I
(2) EIGEIC=T8
3) el |rsiad T
(4 fafte 9 o=
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26581]
2[Option ID=26582]
3[Option ID=26583]
4[Option ID=26584]

Sl. No.72
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The concept of 'Complex Equality’ was given by

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

John Rawls
Michael Walzer
Ronald Dworkin
David Miller

SAfee FAear $r 3gurRerT FEa & & 7

(1)

(4)

(1) 1
(2) 2
(3) 3
(4) 4

SisT Jod
Highel dledlY
UATes Falfhed
3fas e

1[Option ID=26585]
2[Option ID=26586]
3[Option ID=26587]
4[Option ID=26588]

Sl. No.73

QBID:1045048
Isaiah Berlin 1s the author of

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

Taking Rights Seriously

Four Essays on Liberty

The Constitution of Liberty

What's Wrong with Negative Liberty 7

saE afee Fas vas ¥ 0

(1)

T e @it
TR T8y A foredf

fe FfEcegae 3w foadt
gey o1 fag Adfeg foedt 2




(2) 2
(3) 3
(4) 4
1[Option ID=26589]
2[Option ID=26590]

3[Option ID=26591]
4[Option ID=26592]

Sl. No.74
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"Considerations on Representative Government” was authored by :

(1) Plato
(2) James Mill
(3} J.8. Mill
(4) John Locke
1) 1
(2) 2
3) 3
(4) 4
FASVITT A Aefeg maade & d@s S & 2
(1) woieT
(2) o g A
(3) F.ug. Fe
(4) EIGRCIED
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26593]
2[Option ID=26594]
3[Option ID=26595]
4[Option ID=26596]

Sl. No.75
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The United Nations 15

(1) A Multinational Corporation
(2) An International Organisation
(3) A Non-Governmental Organisation
(4) A business entity
(1) 1
(2) 2
3) 3

(4) 4




TGFT [T ¢

(1) T g 1™

(2) T RS HareeT
(3) T I-ELHRT HIS
“4) T SATGEIRF S

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=26597]
2[Option ID=26598]

3[Option ID=26599]
4[Option ID=26600]

Sl. No.76
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Major wars between India and Pakistan took place in

(1) 1947 — 48, 1965 and 1971
(2) 1962 and 1965
(3) 1962 and 1999
(4) 1965 and 1999
(1) 1
(2) 2
(3) 3
(4) 4

mmmﬁms@agﬁw?&?

(H 1947 — 48 1965 31T 1971
(2) 1962 3T 1965
(3) 1962 31T 1999
(4) 1965 31T 1999
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26601]
2[Option ID=26602]
3[Option ID=26603]
4[Option ID=26604]

Sl. No.77
QBID:1045052




Who among the following thinkers 15 known for Realism in International Relations ?

(1) Hans J. Morgenthau
(2) Robert O. Keohane
(3) Joseph Nye
(4) Immanuel Wallerstein
1) 1
(2) 2
3) 3
(4) 4

FeafofET 7 ¥ Fi9-3 as darsdy gadt # gurdae F§ fw 3= 39
g7

(1) & o mtay

(2) {ae 3. o

(3) JaE &3
(4) SFART A ATeRE
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26605]
2[Option ID=26606]
3[Option ID=26607]
4[Option ID=26608]

Sl. No.78
QBID:1045053

SAARC was founded in the year

(1) 1991
(2) 1985
(3) 1950
(4) 1965

(1) 1

(2) 2

(3) 3

(4) 4




g T Tagar P v 7 v 78 off 2

(1) 1991
(2) 1985
(3) 1950
(4) 1965

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26609]
2[Option ID=26610]
3[Option ID=26611]
4[Option ID=26612]

Sl. No.79
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Two superpowers during the Cold War were

(1) UUSA and Russia
(2) UK and Russia
(3) LUSA and USSR
(4) UK and France

1) 1

(2) 2

3) 3

(4) 4

Mg F ek at AgrIfEd g FiA-d & 7

(1 FUHT AR &
(2) 5. 3R &4
(3) U 3R g UE.TE.IR.
(4) T.%. AR wE
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26613]
2[Option ID=26614]
3[Option ID=26615]
4[Option ID=26616]

Sl. No.80
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Which of the following is not a key feature of India's Act East policy ?

(1) To boost its economic and strategic security
(2) To develop strong relations with Indo-Pacific nations
(3) To emerge as a regional superpower
(4) To secure access to capital, technology, energy and markets
1)1
(2) 2
3) 3
(4) 4

ffafea & & i & ara i ‘vae & Hifa Fr g7@ Fevar a8 § 2

(1) Helr deTaEar AR W qRam F T G

(2) FE-IRATF TS F T Fre Faut F1 FHEd Fw
(3) g FErIfFa & §9 F 33T

(4) oeft. ST, 33 iR 9=t &% 9T gAfeaa Far

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26617]
2[Option ID=26618]
3[Option ID=26619]
4[Option ID=26620]

Sl. No.81
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Match List I with List 11 :

List I (Treaty) List I (Year)
A Geneva Protocol L 1968
B. MNuclear Non-Proliferation Treaty IL 1925
& ABM Treaty I 1979
D, SALT II Treaty IV, 1972

Choose the correct answer from the options given below :

(1) A-1L, B-I1, C-I11, D-IV

(2) A-11, B-1, C-I11, D-1V

(3) A-ll, B-1, C-IV, D-111

(4) A-lL B-11. C-1V, D-III
(1) 1

(2) 2




3) 3
(4) 4

T 1% wry =@ 1 F Ao fifse

o= 1 (Ef)
A, 4T Siese
B. WA 3UER €Y
c. vudoa @@
D. Hiee-NdER

L
II.
L
V.

= 11 (@)

1968
1925
1979
1972

A for aiv Jeedt # F 88 3caT 1 T34 fifav

(1 A-1, B-11, C-TII, D-IV
(2) A-IL, B-I, C-III, D-IV
(3) A-IL, B-1, C-IV, D-TII
) A-1, B-1I, C-IV, D-TII

(1) 1
2 2
(3) 3
(4) 4
1[Option ID=26621]
2[Option ID=26622]

3[Option ID=26623]
4[Option ID=26624]

Sl. No.82
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Match List I with List 11 :

List I (Name of Author/Thinker)

Machiavelli
Thucydides

oo wp

Kenneth Waltz

Hans J. Morgenthau

List II (Name of Book)

Theory of International Politics
Politics Among Nations

The Prince

The Peloponnesian War

Choose the correct answer from the options given below :
(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

A W N =

A-1, B-11, C-I1, D-IV
AL B-IV, C-11, D-1
A-1IL, B-1V, C-1, D-11
A-1V, B-111, C-11, D-1




T 1wy = 1 F Aaes fifo

g 1 (eigsh/TEIdes & #1) T 11 (TEch T ATH)
A, AfFTTEET L oy 3016 seaieaa difafesd
B.  yffsssw I offafesw a#T Fma
C. ga = anfar L. f& ffe
D. ¥y awcH V. & Jerd&afdaa an

A fBr v Beedt # 8§ 78 3o F1 TIa e

(1) A-l, B-11, C-II1, D-1V
(2) A-II, B-1V, C-11, D-1
(3) A-II, B-1V, C-1, D-11
(4) A-IV, B-111, C-11, D-1

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26625]
2[Option ID=26626]
3[Option ID=26627]
4[Option ID=26628]

Sl. No.83
QBID:1045058

Arrange the following Cold War events chronologically from the earliest to the latest.

Cuban Missile Crisis
Suez Crisis
Soviet intervention in Afghamstan

Vietnam War

monmEg#

Korean War

Choose the correct answer from the options given below

(1 E.A,B,D,C

(2) E,B,A,D,C

(3) B,E,A,C,D

(4) B,E,A.D,C
(1) 1

(2) 2




3) 3
(4) 4

%ﬁﬂa%ﬂwaﬁmﬁﬂﬁﬁ#ﬁwm%ﬂﬁmﬁﬁ
& |

B. ol §He

C ¥FenAEaE # a@fEdag seasy
p. faaaamT Ig

E. HIRAT I

# Br v Beedt # @ @8 3caw = T3@a fifew

(1) E.A,B,D,C
(2) E,B.ADC
(3) B,E,A,C,D
(4) B.E,A,DC

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26629]
2[Option ID=26630]
3[Option ID=26631]
4[Option ID=26632]

Sl. No.84
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Which of the following statements about NAM are correct 7

A, NAM represented the concerns, interests and aspirations of the developing
countries.

B. It emerged in the context of a wave of decolonization after the Second
World War.

C. India was one of the founding members of NAM.
D. The relevance of NAM afier the end of Cold War is being debated.
E NAM supported the policy of Imperialism.

Choose the correct answer [rom the options given below :

(1) Only A,B,Cand E
(2) Only A, B, Cand D
(3) Only A, B.Dand E
(4) Only A,C,Dand E

(1) 1

(2) 2

3) 3

(4) 4

fArfaf@a & & Fia-#la & Fya e @98 o (W.UwA.) & dau J
wer g2

A .0 0H. faerasiier & & gaTanat, Rar v et &
gfafafes Far ¢ |

B. 77 g fva gg ¥ weara -sufAawEe $ ogx F afwer #
3T E |

C. HRT TA.CUH & GFU9H TS A § 05 ¢ |

D. offg g & #AfeT & weara wa.vud. & 3ifRer W aww @t @
&

E. vavwA & gasgae & AT & gada T g

A fgu v Teedlt # & ®@E 3ol FT 994 SifaAU ¢
(1) Fad A B.C.E
(2) Fael A,B.C,D
(3) Fdd A,B,D, E
(4) Fdd A,C,D.E
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26633]
2[Option ID=26634]




3[Option ID=26635]
4[Option ID=26636]

Sl. No.85
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Who is the author of the book "Engaging India : Diplomacy, Democracy and the
Bomb" ?

(1) Jaswant Singh
(2) Strobe Talbott
(3) C. Rajamohan
(4) Harsh V. Pani
(1) 1
(2) 2
3) 3
(4) 4

THfST SR R, S 62 R anw & aww A g0
() sEEa R
(2) I reale
3 @ e
(4) ¥ & d9a

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=26637]
2[Option ID=26638]

3[Option ID=26639]
4[Option ID=26640]

Sl. No.86
QBID:1045061

The US-Indian Nuclear Cooperation Approval and Nonproliferation Enhancement Act
was signed in the year

(1) 2005
(2) 2001
(3) 2008
(4) 2020

(1) 1

(2) 2

(3) 3

(4) 4




J.UH.-HRCAT GTATY] HedT 3eqAle 3R HUER dadl Hfafaasd o geaRi
e ay # fov v & 2

(1) 2005
(2) 2001
(3) 2008
(4) 2020

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26641]
2[Option ID=26642]
3[Option ID=26643]
4[Option ID=26644]

Sl. No.87
QBID:1045062

Woodrow Wilson's 14 points stressed the importance of

(1) Self-help in International Relations
(2) Security Dilemma in International Relations
(3) Traditional Morality in International Relations
(4) Collective Security in International Relations
(1) 1
(2) 2
(3) 3
(4) 4

gsUd facwa & 14 g fhas Agccd Wad & & 7
(h FadsdT geaut F w9 werEar
(2) e waet o gaw gl
(3) T waut # e Afawar
(4) e waet F weRes e
(1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=26645]
2[Option ID=26646]
3[Option ID=26647]
4[Option ID=26648]

Sl. No.88
QBID:1045063




The purpose of the US Marshall Plan was

(1) To extend economic loans to war-torn countries in Europe
(2) To give US a favourable image as a creditor
(3) To ensure economic stability and political order in the Post World War I
World
(4) All of the above
(1) 1
(2) 2
(3) 3
(4) 4

.U, A CAT &1 AT FIT 47 7

(1) A9 & gg wenfaa oRif 1 3w HOT IueEY Fem

(2) RUETAT & &9 H UH. H ThRcHS BId FTedd el
(3) giada favg gg & wad il RRar iR geEhfas saaer
gRAfRaa wwer
(4) Iulierd |3l
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26649]
2[Option ID=26650]
3[Option ID=26651]
4[Option ID=26652]

Sl. No.89
QBID:1045064

Which one of the following is not a part of the UN Millenium Development Goals
(MDGs) ?

(1) Eradicate Extreme Poverty and Hunger
(2) Achieve Umiversal Pnimary Education
(3) Promote Gender Equality and Empower Women
(4) Promote South-South Cooperation
(1) 1
(2) 2
3) 3

(4) 4




i@ # ¥ Fia g+ Tog Fgdrles [@arT wedr (TA.SNEN) FT #Hmer
el g 7

() Feafes e 3R qEAl F1 SeHe

(2) aranifAs wufas Rer & aew greg S

(3) ToIeT FaATAAr 3N AT wATFTHOT F HIUA

(4) efEror-g & wgdreT

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26653]
2[Option ID=26654]
3[Option ID=26655]
4[Option ID=26656]

Sl. No.90
QBID:1045065

Which one of the following is not a type of Public Policy in Theodore Lowi's
classification 7

(1) Regulatory Policy
(2) Distributive Policy
(3) Redistributive Policy
(4) Welfare Policy

(1) 1

(2) 2

3) 3

(4) 4

fararER aEr ¥ Fefferor ¥ s famfofaa & @ #la @ & Aifa &
R el & 7
(1) ArfeaEs A

D) o S
(3) qATEdoT Al
(4) FedToT A

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26657]
2[Option ID=26658]




3[Option ID=26659]
4[Option ID=26660]

Sl. No.91
QBID:1045066

Which of the following is/are correct about the Hawthorne Experiments ?

A. It was a pioneering study of how individuals behave in organisations.
B. It was carried out at the Hawthorne Works of Western Electric company, UK.

Choose the correct answer from the options given below :

(1 Only A
(2) Only B
(3) Both Aand B
(4) Neither A nor B
(1) 1
(2) 2
(3) 3
(4) 4

gl 9IeT F Teu A Fato@a F 9 F47 T 8 2

A Ig SR AT 3euad o F cafEa d@eeal # R 9w
TWEER F9 ¢ |

B. g wlieo dved safFes FAL IF. F FA I59 F fRar
aqr |

e for a7 et # ¥ OEY 3o F T FifFU
(1) I A
(2) I B
(3) A 3T BEET
4) AR BH @ FE 74T

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26661]
2[Option ID=26662]
3[Option ID=26663]
4[Option ID=26664]

SlI. No.92
QBID:1045067




The book 'The Principles of Scientific Management' was authored by

(1) F.W. Taylor

(2) Henr Fayol

(3) Luther Gulick
(4) Lyndall Urwick
(1) 1

2) 2

3) 3

(4) 4

‘Riffaew 3w aEiefrs fiswie gwas & dus #a 47

M e sy, TR
(2) = v
L Gk
(4) [EECEENEED

(1) 1
(2 2
(3) 3
(4) 4
1[Option ID=26665]
2[Option ID=26666]

3[Option ID=26667]
4[Option ID=26668]

Sl. No.93
QBID:1045068

Who 1s associated with the concept of 'Bounded Rationality' ?

(1) Charles E. Lindblom
(2) Herbert Simon

(3) Thomas R. Dye

(4) Yeherzkel Dror

(1) 1

(2) 2

(3) 3

(4) 4




EoC

AT THEIaar T ATUROT ¥ datad g ?

(1) s 3. folssew
@) gaC WigHA
(3) AHT 3. 315
(4) IoTheT 3N

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26669]
2[Option ID=26670]
3[Option ID=26671]
4[Option ID=26672]

Sl. No.94
QBID:1045069

Which of the following statements are true about 'game theory' 7

A

~

Game theory attempts to understand collective human activity as an outcome
of interactive decisions.

[t assumes decision-makers are involved 1n choices that are interdependent.
In game theory the 'best’ depends upon what others do.

Game theory can be applied to decisions about war and peace, use of nuclear
weapons and international diplomacy.

The conditions of game theory are always approximated in real life.

Choose the correct answer [rom the options given below :

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

Only A, B,C.D
Only A, B,C, E
Only B, C, D, E
Only A, C, D, E




B ST F U9y & F=of@a 7 9 S99 § Fa9 @& &

A ga faea i AEe afafafeat # safraens [t 5
IRUTH F §T H TAS & 9977 § |

B. 77 Aar § F v F= 9 dagag TFeat # onfae 2 £

- o e #§ 3opse 39 99 W ol war € & s A Far e
wWEl

D. @ fe@ & wamr g X aifa. aifdd oF =T & 593 3R
HIOET Fefy & fFofat & frar o g&ar ¢ |

E. @a g $fr oiiftufol. vég aafes shea F oo g §

s fer v TFeat # ¥ WET 3caT T I HITSU
(1) Fad A.B.C.D
(2) F9d A.B.C.E
(3) F9e B.C.D.E
(4) Fdcl A.C.D.E

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=26673]
2[Option ID=26674]

3[Option ID=26675]
4[Option ID=26676]

Sl. No.95
QBID:1045070




Which of the following are true about a federal system ?

E.

A federal system is based on a constitutional division of power.
In a federal system the power remains centralised.

A federal system 1s an innovation of modern times to deal with the 1ssues of
mass democracies.

In a federal system the regional units participate in the decision-making
process at federal level electorally.

It is characterised by primacy of territorial representation.

Choose the correct answer from the options given below :
(1
(2)
(3)
(4)

(1)
(2)
(3)
(4)

A W N =

Only A,B,C,D
Only A,C,D,E
Only A B, C

Only B,C,D, E

T o F v d @ s e g g Faa @@ ¢ »

A.

B.

TS THIT U9EdT oOf9g F gdunlas s o7 smaiRa § |
HEHT =09 EdT # afFd Frpd Bl ¢ |
T TTEYT A dishad H TAEAE ¥ fAvea ¥ for argfas

FAT F GACAF JUMe ¢ |

T g # &9y sHEa [uy # gfFEw F g TS W
TATE FEATEAT FIAT 2 |

g9 gfafafes H gu=ar ST+ T § |

e fer o1r et § O TEY 30T F T fifFw

(1)
(2)
(3)
(4)

(1)

(2)

(4)

A W N =

F9d A.B.C.D
Fdd A.C.D.E
Fdd A.B.C

Fdd B.C.D.E




1[Option ID=26677]
2[Option ID=26678]
3[Option ID=26679]
4[Option ID=26680]

Sl. No.96
QBID:1045071

Who coined the phrase 'Catch-all' party 7

(1) Robert Dahl
(2) Duverger
(3) Sartori
(4) Otto Kirchheimer
(1) 1
(2) 2
(3) 3
(4) 4
‘Fg-3iTer gret o ST FEa A g 7
(1) aC SEA
(2) Jgat;n'
3 weflr
(4) HTeT FUEEAT
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26681]
2[Option ID=26682]
3[Option ID=26683]
4[Option ID=26684]

Sl. No.97
QBID:1045072

Which of the following are modern approaches to Comparative Politics 7

(1) Behavioural Approach
(2) Structural-functional Approach
(3) Systems Approach
(4 All of the above
1)1
(2) 2
3) 3

(4) 4




i@ # & Sla @/ Jelarcas Aol & 3RS I9EH § 2

(1) ARG A
2) TIATCHSF - FIATcHS 3TEH
(3) SOGEUT I9ETH
(4) IWIFT F@H
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26685]
2[Option ID=26686]
3[Option ID=26687]
4[Option ID=26688]

SlI. No.98
QBID:1045073

Who among the following 15 mof a classical elitist thinker 7

(1) JA. Schumpeter
(2) Vilfredo Pareto
(3) R. Michels
(4) G. Mosca

(1) 1

(2) 2

(3) 3

(4) 4

e # @ o9 @ aey sfeaad Ras a8 ¢ 2

(M 3t e
(2) donthsl qiel
(3) IR, Adew
(4) S, HEFr

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=26689]
2[Option ID=26690]

3[Option ID=26691]
4[Option ID=26692]

Sl. No.99
QBID:1045074




Which of the following statements 1s/are correct ?

X,
B.
.

1

The origin of constitutionalism 1s traced in the Magna Carta.

State Duma is Russia's national legislature.

Separation of powers is about distributing powers between the Centre and
the States (Units).

Canada has parliamentary-federal polity.

Choose the correct answer from the options given below :
(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

1
2
3
4

Only A and B
OnlvA.Band C
OnlvA.Band D
Only D

PrfafEd # ¥ Sl '/d FUT w6 e 7

D.

dfaererarg i Icafeg & Hear el #F 91ar 31 G § |
wF $T Todra faue wer wee s g |

3fERT & @smea @ arcad, Fe 3K weat (swEdh) & &
FfOeRT & ARoT A E

FeATST A THGI-HHT TA-cqaedT § |

A fw v Beedt # ¥ @98 3o} = TIa fifSw

(1)

(4)

(1) 1
(2) 2
(3) 3
(4) 4

Had AR B
Fad A, BIHR C
Fad A, B3R D
Fdol D

1[Option ID=26693]
2[Option ID=26694]
3[Option ID=26695]
4[Option ID=26696]




Sl. No.100
QBID:1045075

Functions of a Political Party include

Coordination within government and society
Contesting elections

Recruitment of cadre

Representation

Legislation

monaoR#~

Choose the correct answer from the options given below
(1) Only A,B,C,D
(2) Only A,B,D,E
(3) OnlyB,C,D. E
(4) Only A,C,D,E

(1)
(2)
(3)
(4)

AT gl & Fraf 7 anfaa §

A W N =

A TFR HR S & 69 gAeay
B. qAE F5A

C. HIET Al

D. yfafafecs

E. FIA FAAT

A Gu av Rsredt # & #E 3c) 1 T fifSw

(1 $ad A.B.C.D
(2) Fad A.B.D.E
(3) Fad B,C,D,E

(4) Fae A.C.D.E

11
(2) 2
(3) 3
(4) 4

1[Option ID=26697]
2[Option ID=26698]
3[Option ID=26699]
4[Option ID=26700]




